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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN', ’slISetVI']]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

is missing

20

30

40

50




Trend plot forP3-2_0
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35.0 A

34.5 -

34.0 A

800

865 8%0
m=955,n FV0=0

36. 5

36. 0

35.5 -

35. 0 -

——

M_E

955

960 965

m=465, FV0=0

33.5 -

33.0

32.5 -

32.0 A

31.5 4

31.0 -

30. 5

M_E

4%0 4%5
m=690,n FV0=0

34.0

33.5 -

33.0 A

32.0 A

695 700
m=835,n FV0=0

35.5 -

35.0 -

34.5 -

34.0 -

835

8&0 8&5
m=1000m FV0=0

36. 50

36. 25

36. 00

35.75

35. 50 A

35. 25 A

——

M_E

1000

1005 1010

34.

33.

33.

32.

34.

34.

33.

33.

36.

35.

35.

34.

m=535, FV0=0

M_E

5&0 5&5
m=730,n FV0=0

7é5 7&0
m=875,n FV0=0

875 880 885

40 ~

38 -

36

34 -

32 -

30

28

%3

—o— MW

400

600 800 1000




m=440, FV0=0

38 + —0— MW
36 -
34 4
32 4
30 4
28 -
T T T
440 445 450
m=650,m FV0=0
-— MW
38 +
36
34 +
32 L T T T
650 655 660
m=800,m FV0=0
39 4 -0 MW
38 +
37 4
36
35 +
34 4
800 805 810
m=955,m FV0=0
—-0— MW
39 +
38 4
37 4
36
35 +

955 960 965

m=465, FV0=0

40

39 A

38 A

37 A

36

35 A

34 A

—— MW

4%0 4%5
m=690,n FV0=0

39 A

38 -

37 A

36

35 -

34 -

33 A

—o— MW

695 700
m=835,n FV0=0

39 A

38 A

37 A

36

35 A

34

—— MW

835

8&0 8&5
m=1000m FV0=0

40

39 -

38 A

37 A

36

35 -

-— MW

i

1000

1005 1010

m=535, FV0=0

40 A

39 A

38

37 A

36 -

35 -

34 -

—— MW

535

5&0 5&5
m=730,n FV0=0

39 A

38

37 A

36

35 A

34 1

33 A

—— MW

730

7é5 7&0
m=875,n FV0=0

39 A

38

37 A

36

35 A

34 -

—— MW

875

880 885

m=595, FV0=0

40 A

39 -

38 A

37 A

36

35 A

34

—0—

MW

595

660 665
m=765,n FV0=0

39 -

38 -

37 A

36

35 -

34

33 -

—0—

M_W

765

7;0 7%5
m=915,n FV0=0

39 A

38 A

37 A

36

35 -

34 -

—o—

M_W

915

920 925




hour

100

8:45
9:30 80
10:35
- 60
11:30
- 40
12:35
13:30 20
15:00
1 1 1 1 _0
% & & B XS B
FFFELSES




P3-2

Byia) | EEBEETIC (7)) | EBE (BAH/HK) | XK EE

08:45 278 150.0 | {Ri%@08:45 B (KRR
09:30 278 150.0 F 1BRi%@09:30 Bzl (RAERE)
10:35 278 150.0 5| {Ri%@10:35 B3 (GRAERSE)
11:30 278 150. 0 El BRi&e11:30 Bz CGRAEESE)
12:35 278 150.0 E BRige12:35 Bz CGRAERESE)
13:30 278 150.0 5| {Ri%e13:30 B3 (RAERSE)
15:00 278 150.0 (& =| 1BRiB@15:00 Bzh (KREEREE)
=it+11946.0 (7:%) 1050. 0 3 HKEC: 2080.0, PH: 5.8

FEREIEC (2410.0) HigZFEEC (2000.0) REK KX, HHRE
#[EKECE (2410.0 vs 3933.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=52 (2025-05-20)

o fF———————fF————F—————f 3000
V1, V&SRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2100
100 - L 2000
50 - L 1000
0 -0
200_( 436
150 - - 34
I-“I
100 - 32 =
50 - L 30
1.0 28
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 -
0.2 -
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5. 8 N
0.6 -
0.4 -
0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 | - 2000
ByInii: @D55 01:38: ET=1047 Fg=1350.0 Ro=363.0 t
200 - ! - 1500
1
: - 1000
100 - :
I - 500
1
I ’I
015 #223 2 1 51 61 7] 8 19 01 1213114 1516 17118 7191212 |22 232000
% | % | % | | | | | | | m | @ m | m | m | m | m | m | m | m || m|m|E|®
] L 1500
200 1 ByEt @D52 18:38: ET=902 Fg=1305. 0 Ro=nan e o o le o o o o
! - 1000
100
- 500
015 1 2’3 7 T 51617 T8 T o Ti0l ] 2345678119 20222000
BB | B | B | KB |B| B |2 &8 | B 5 5 5 IRERAREA EREEEAEA R EREEREERS
] L 1500
200 1 ByWoFy @55 01:38: ET=861 Fg=1050.0 Ro=288.0
- 1000
100
- 500
1.0 0
0.8 -
0.6 -
0.4 -
0.2 -
R
[ ] | _obs
—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=430, FV0=0 m=510, FV0=0 m=575, FV0=0

- ME —e— ME | 330- - ME
36 - | .
34.0
35 - ] 34.0 -
83.5 32.5 -
34 - 33.0 -
33.5 -
33 - 32.5 - 32.0 -
i 32.0 -
32 33.0 - 31.5 -
31.5 -
31 _I T T T T T T T T T T T T T T
400 500 600 700 800 900 430 435 440 510 515 520 575 580 585
m=630,m FV0=0 m=675,m FV0=0 m=720,m FV0=0 m=770,m FV0=0
34.5
0l —e— ME 3851 o ME —o— ME 35.04 —@— ME
34.0 -
33.0 - 34.5 -
.5
33 5 . 34 0 a
32.5 -
.0
33.0 - 33.5 -
32.0 -
-9 33.0 1
32.5 - :
T T T T T T T T T T T T
630 635 640 675 680 685 720 725 730 770 775 780
m=815,m FV0=0 m=880,m FV0=0 m m=430,m FV0=0
36.5 -
ol —& ME - MNE - MW
-0 38 -
36. 0 38 4
-9 35.5 - i
26 36
0 35.0 -
34 - 34 1
34.5 -
5 -
34.0 32 1 32 1
0- - MW
T T T 33 5 B T T T I‘ T T T T T T T T
815 820 825 880 885 890 400 500 600 700 800 900 430 435 440
m=510,m FV0=0 m=575,m FV0=0 m=630,m FV0=0 m=675,m FV0=0
39 -
39 - — N 39 —o— MW —— MW - MW
38 A 38 -
38 38 1 37
37 377 36 36 4
36 36 - 35
35 351 347 34 -
34 - 341 33 -
32 -
T T T 33 T T T T T T T T T
510 515 520 575 580 585 630 635 640 675 680 685



m=720, FV0=0

—— MW
38
36
34 -
T T T
720 725 730

m=770, FV0=0
—— MW
38 -
36 -
34 -
32 B T T T
770 775 780

m=815, FV0=0

38 -

37 A

36

35 -

34

33 -

32

—0—

M_W

815

T
820

T
825

m=880, FV0=0

38 A

37 A

36

35 A

34

33 A

—0—

M_w

880

T
885

890




hour

100

80

145
140 - 60

:35

- 40

:30

120

:20

:30

§_

‘*@»
>
5
T
%



P3-2

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R

08:10 278 130.0 |Z=| 1BRi&e08:10 Bzh (REERESE)
08:35 278 130.0 [Z=| 1Rig008:35 Bzh (KEEREE)
09:45 278 130.0 (& =| 1Ri%@09:45 Bz (RAHEREEE)
10:40 278 130.0 (& =| 1Ri%@10:40 B3h (RAHERESE)
11:35 278 130.0 = {Rige11:35 B3 (GRAERSE)
12:30 278 130.0 E BRige12:30 Bz (GRAERESE)
13:20 278 130.0 5| {Ri%e13:20 B3 (GRAERSE)
14:20 278 130.0 = RRiB014:20 B (RFAEESE)
15:30 278 130.0 E BRi&e15:30 Bz (GRAEREE)
21t 2502.0 (97%) 1170.0 3 WHKEC: 2080.0, PH: 5.8

EREBRK (278) S5TREA (241. 0) R, FIREM T & WEIEIRS X XER

2RI\ PRIERE150. 0 ml.

REREEBIEC (2580.0) 5% TEEC (2000.0) REK K, HHEE

#H[EKECE (2580.0 vs 4187.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1908 3

P3-2_0, Day=51 (2025-05-19)

3000

100 A

50 A

200 A

150 -

100 -

50 A

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2506
2100 100

1432

1200 060 69

60 H54g
Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

200

X ) — —— —
300 7= 711 2 ] 3 | &

]
Bylnit @D55 01:38: ET=909 Fg=1890.0 Ro=1026.0
I

/

- 2000

- 1000

- 3000
7
- 2000

- 1000

5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

200 |+ ByEt @51 -19:07: ET=1025 Fg=2030. 0 Ro=nan ®

100 - —s

300

2|35 || W [ A | BB [ B |85 | R [ | B5 | R [BF | S | RS | BE | fs [ MBS | BE | R | HE | BE | R [ BR

/g

T
@
o
o
o

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

2|25 || B [ | BB | | H |27 [(25 || B [ | i5 | BB | B | f5 [ | BE |5 | B | BE | A5 [ BB

]
200 A ByWoFY @D5501:38: ET=969 Fg=1170.0 Ro=297.0
]

T
@
o
o
o

- 2000

- 1000

0.6

0.4+

0.2~

1000

500 -

—_—
[ ] | _obs
PPFD_obs

30 A

20 -

10

80 A

60

40

RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



34.

36.

35.

35.

34.

36.

35.

35.

34.

m=430, FV0=0 m=465, FV0=0 m=535, FV0=0
349 34.0 A
—o— ME : —&— M_E —o— ME
33.0 -
34.0 - 33.5 -
32.5 A
33.8 33.0
32.0 A
33. 6 1 32 5
31.5 1
33. 4
31 . 0 a 32 0 .
33. 2
M_E 30. 5 A 31.5 A
T T T T T T T T T T T T T
400 600 800 1000 430 435 440 465 470 475 535 540 545
m=590,m FV0=0 m=630,m FV0=0 m=670,m FV0=0 m=705,m FV0=0
36.5
51 o= ME o MNE 6 5 —o— ME —&— ME
36. 5 '
-0 36.0 -
36. 0 1
5 36. 0 A
35.5 A
35.5 -
-0 35.5 -
35.0 -
-9 35.0 -
35.0 A
34.5 A
0 - T T T T T T T T T T T T
590 595 600 630 635 640 670 675 680 705 710 715
m=740,m FV0=0 m=780,m FV0=0 m=830,m FV0=0 m=880,m FV0=0
- M_E 36. . 35.5 - 36. 0 A .
0 -
35, 35.0 35.5
5 -
35. 34.5 - 35 0 -
0 i
34. 34.0 34.5 -
5 - 34. 33.51 34.0 -
740 745 750 780 785 790 830 835 840 880 885 890
m=925,m FV0=0 m=970,m FV0=0 m=1010m FVO=0 m
- M_E 36. . 36. 50 - 10
0 4
36. 25 - 38 4
35.
5 4 36. 00 36 -
35. 35. 75 34 -
0 4
35. 50 - 32 +
34.
51 35. 25 - 30 -
925 930 935 970 975 980 1010 1015 1020 400 600 800




m=430, FV0=0

40 1
—o— MW
38
36
34
32
30
T T T
430 435 440
m=630,m FV0=0
—o— MW
38
36
34
T T T
630 635 640
m=780,m FV0=0
28 —o— MW
37
36
35
34
33
32 B T T T
780 785 790
m=970,m FV0=0
38 1 —o— MW
37
36
35
34
33

970 975 980

m=465, FV0=0
41
—— MW
40 -
39 A
38 A
37 A
36
35 -
T T T
465 470 475
m=670,m FV0=0
—— MW
38 A
36
34
32 = T T
670 675 680
m=830,m FV0=0
38 A
—o— MW
36
34 1
32 -
830 835 840
m=1010m FVO=0
38 - —— M_W
37 A
36
35 A
34
1010 1015 1020

m=535, FV0=0
40 7 —— MW
38
36 |
34
T T T
535 540 545
m=705,m FV0=0
—— MW
38
36
34
T T T
705 710 715
m=880,m FV0=0
38 1 —— MW
37
36
35
34
33
880 885 890

m=590, FV0=0

38 A

36

34 -

32 -

—— MW

590

595 600
m=740,n FV0=0

39 A

38 -

37 A

36

35 -

34

33 -

—o— MW

740

7&5 7%0
m=925,n FV0=0

38 -

37 A

36

35 A

34

33 A

—o— MW

925

930 935




